275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

a‘/le L e Tel. 519-884-8555

)7 Toll Free 800-331-7952
Fax 519-650-3334

. . panelite.com « dietersaccessories.com
Our Reputation Is Stainless! IATF16949 & 15014001 REGISTERED SYSTEMS

BUG DEFLECTOR

International - Lonestar
INSTALLATION INSTRUCTIONS:

1. Remove Plastic coating around all bolt holes. T
2. Assemble two halves of Bug Deflector as shown in Fig. 1. — P T

3. Attach both grab handles to the backside of the Bug Deflector leaving hardware S \

s

loose so that the handles can slide freely. S Fig.1 \

_ . ol

Place Bug Deflector on hood directly above the grill bezel. Hold Bug Deflector in desired position, making sure the
Deflector is centered over the hood ornament and is following the line of the grill. (See Fig. 2).
5. Mark two holes for grab handles. LB

Bug

6. Remove grab handles from Bug Deflector. Set Deflector and handles aside.

7. Tilt hood forward.

8. Drill 9/32" holes into pockets in the hood and attach supplied grab handles
using 1/4-20 x 1” long hex head bolt, 4 washer and 1/4-20 lock nut.

9. Return hood to closed position. Attach Bug Deflector to grab handles.

10.  Ensure that the Defletor is following _thg top line of the grille. Mark all eight Ho e§ for the dflector.(See Fig 3.)

ENSURE SEAM OF DEFLECTORIS
CENTRED OVER THE HOOD ORNAMENT

11. Remove Bug Deflector. Drill 1/8” holes at locations marked in previous step.

12.  Fasten Bug Deflector loosely to grab handles once more. Ensure Deflector is centered on hood and over hood ornament.

(See Fig. 3)

13.  Using the #12 x 1” long pan head screws, fasten Bug Deflector to hood.

14.  Ensure all hardware is tightened.

15.  Remove plastic coating from Deflector & remove marks with glass cleaner and a soft cloth if necessary.

Page 1 0f4 [1INTO19 JULY 2009



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

a‘/le L Q Tel. 519-884-8555

)7 Toll Free 800-331-7952
Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 15014001 REGISTERED SYSTEMS

DEFLECTEUR D'INSECTES
International - Lonestar

INSTRUCTIONS D’INSTALLATION: o [
1. Retirez la pellicule plastique autour des trous de boulon. e A
2. Assemblez les deux moitiés du déflecteur d'insectes tel que montré sur l'image 1 / :
3. Fixez les deux poignées a 'arriere du déflecteur d’insectes, sans serrer la /
quincaillerie, afin que les poignées puissent bouger librement. "/ Image. 1 “/
4, Placez le déflecteur d'insectes sur le capot immédiatement au-dessus du cadre de la calandre. Maintenez le déflecteur
dans la position désirée, en vous Assurant qu'il soit centré sur 'ornement de capot et qu'il suive a ligne de la calandre.
(Voir l'image 2) -  —
5. Marquez deux trous pour les poignées.
6. Retirez les poignées du déflecteur d'insectes. Mettez le déflecteur et les
poignées de coté.
7. Basculez le capot vers 'avant.
8. Percez des trous de 9/32” dans la pochette du capot et fixez les poignées
fournies a ['aide des boulons hex 1/4-20 x 1”, des rondelles 1/4 et des contre écrous 1/420
9. Replacez le capot en position fermée. Fixez le déflecteur d'insectes aux poignées.
10.  Assurez-vous que le déflecteur suit bien la ligne du haut de la calandre. Marquez les 8 trous du déflecteur. (Voir l'image3)
Sy a‘ , ASSUREZ-VOUS QUE LE DEFLECTEUR SOIT
B - i CENTRE SUR L'ORNEMENT DE CAPOT
i :
11.  Retirez le déflecteur. Percez les 8 trous marqués a l'étape précédente avec une méche de 1/8".
12.  Fixez le déflecteur sur les poignées, toujours sans serrer. Assurez-vous que le déflecteur soit bien centré sur le capot et
['ornement de capot. (Voir l'image 3)
13.  Alaide de boulons a téte ronde #12 x 1”, fixez le déFlecteur d’insectes sur le capot.
14.  Assurez-vous que toute la quincaillerie soit bien serrée.
15.  Retirez la pellicule plastique du déflecteur et effacez les marques avec un nettoyant a vitre et un chiffon doux au besoin.

Page 2 of 4 [1INTO19 JULY 2009



275 Industrial Road,

Cambridge, Ontario N3H 4R7

‘/le L Q Tel. 519-884-8555

)7 Toll Free 800-331-7952
Fax 519-650-3334

INSTRUCCIONES DE INSTALACION:

1.

2.

© N oW

N

11.

12.

13.

14,

15.

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 15014001 REGISTERED SYSTEMS

DEFLECTOR DE INSECTOS
International - Lonestar

Quite la pelicula plastica alrededor de los agujeros para tornillos. —* /"
Ensamble las dos mitades del deflector como se muestra en Fig. 1. Il (— \ o
Coloque ambas manijas a la parte trasera del deflector dejando los accesorios flojos ///

o - Fig.1 - -
para que deslicen libres.

Coloque el deflector de insectos en el capo directamente arriba de la brida de a parrilla. Sostenga el deflector en la
posicion deseada, asequrandose que el deflector esta centrado sobre el ornamente de la parrllla y sigue a linea de la

parrilla (ver Fig.2).

Marque dos agujeros para las manijas.

Quite las manijas del deflector. Guarde las manijas y el deflector.

Incline el capo hacia el frente.

Perfore agujeros de 9/32” en las bolsas del capo y coloque las manijas provistas
usando tornillos hexagonales de 1/4-20 x 1", arandela de 1/4" y tuerca de 1/4-20.

Regrese el capo a la posicion cerrada. Coloque el deflector a las manijas.

Asegurese que el deflector sigue la llnea superlor de la parrilla. Marque los 8 agujeros para el deflector de insectos (ver

Flg 3) : i 5 i ‘ ASSUREZ-VOUS QUE LE DEFLECTEUR SOIT
i ' CENTRE SUR L'ORNEMENT DE CAPOT

7 \
ALIGNEZ LE DEFLECTEUR A LA

LIGNE DU HAUT DE LA

CALANDRE

// 4
//// - 2

™
Quite el deflector. Perfore agujeros de 1/8” en las locallzaciones marcadas en los pasos anteriores.

Sujete el deflector de forma floja para agarrar las manijas nuevamente. Asegurese que el deflector esta centrado en el

capdy sobre el ornamento (refiérase a la Fig. 3).
Usando los tornillos de cabeza plana #12 x 1", sujete el deflector al capd.
Asegurese que todos los accesorios estan apretados.

Quite a pelicula plastica del deflector et quite manchas con limpiador de vidrio y con un paio suave si es necesario.

Page 3 of4 [1INTO19 JULY 2009



